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58. If there is a profit of 20% on the cost

price, the percentage of profit on the
sale price is

1
[A] 15 E % B] 12%
2
[C] 16 g % [D] 16%
[E] None of the above

59. How many seats are allotted to the
members of Rajya Sabha from Haryana

State?

(A] S B] 8
€] 10 D] 12
[E] None of the above

60. The scheme Beti ka Salaam Rashtra
ke Naam’ is related to
[A] essay competition
[B] sports competition
[C] flag hoisting
[D] getting a job
[E] None of the above

61. A does 20% less work than B. If A can

©
L.

complete a piece of work in 7Ehr,

then B can do it in

[A] 4 hr [B] 6 hr
[€] 8 hr [D] 10 hr
[E] None of the above

T
e 26
IRl
3 62. A topographical map with scale 1 : 50000
Ie indicates 1 cm to
P [A] 50 km
[C] 50 m
(E]

[B] 500 m
[D] 5 km
None of the above

306
T
=

63. A popular chat service is called
[A] Internet Release Chat
[B] Internet Request Chat
[C] Internet Resource Chat
[D] Internet Relay Chat
[E] None of the above

64. Burns caused by steam are much more
severe than those caused by boiling

water becauseé
[A] steam pierces through the pores of

body quickly o i
tem}l;erature of steam is higher

steam is gas and engulfs the bod

ickly M
D] gt::am has latent heat N>R
[E] None of the above
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16 E % D] 16%

[C]
3
[E] 3R # & HE T
\59. afmm e @ T @ % e & o e
die smafea frg T &7 y
Al 5 (B]
{c]] 10 [D] 12
[E] 3w & @ HE 7@

BB 36 & gom Ty F A A Hefd R
E1Y (A] Prey wfeifiar @

B] @« wiadifiar &

[C] eaeRIE & 1

D] A% o= & W S
£

[E] 37 § & %18 &
61. A, BH 20% %1 HM& wal 2| afe A Freft

A Y i

by ™R RIWTaww, @ B
mﬁmﬁwwm%?
[A] 4 &2 B] 6 =2
[C] 8= D] 10 =2

[E] 300% # § 3¢ 5
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34. The number 7 ig
[A] a fraction
[B] a recurring ge:
[C] a rational numcblz_al
[D] an irrationa] p
[E] None of the ap

35. Foreign  Portfolio Mo
RGNS Of _  pog 1. Stment (FPI)

India in FY 2020-21 €N registered by
[A] ®1 lakh crore

[B] 2 lakh crore

[C] 2.74 lakh crore

[D] 10 lakh crore
[E] None of the above

Umbe],
Ove

Direction : In the following qQuestion, a figure
marked as transparent sheet is gi’ven and
followed by five answer figures. One out of
these five options resembles the figure which
is obtained by folding the transparent sheet
along the dotted line. Choose the correct
answer from the answer figures:

36. Transparent Sheet

e

Answer Figures

=3 =1 =1 None
] .\ ! ‘ ; | of
.\N: S : E_E these

&l

- -

(Al (B [C] [D] [E] mRE
37. Publication of which of the follow:
At

weekly magazines Was started
Cliau(}'i’hary %:hhotu Ram pisl 1916 from
Rohtak?

[A] Hindu Gazette

[B] Sikh Gazette

[C] Jat Gazette

[D] All of the above

[E] None of the above

: not a part of
38. Which of the following was

Napoleon’s defeat? Austrid
[A] Britain A many
[C] Italy (D]

[E] None of the above

is famous for
3. Which city of Harya™
Textiles and Carpets’ SoniPat

[A] Ambala [B] Panipat
[C] Rohtak [13716
[E] None of the ab0

Ns.q

: 34, T 1 B

(A] T firm (B] UH aadi qumHed
([C] Wb 4y e (D] us safeg de&l
E] 396 ® @ &8 A8

~35. forfmad 202021 % o foeeft rwifern

w1 ae v gro o faran T 21
A] %1 d@ Hs

B] %2 dr@ #lg

[C] ¥2.74 @’ U

[D] T10 @M@ HUs

[E] 3W® # @ &8 &

ﬁm:ﬁm&%mﬁ,m@%wﬁw
Th A & TS R 3N IEH wie qfe I FTHaAT
& 8 &) 31 e feosped! #f & wh, 3@ el & ferd-
Serar @ S areE! 98 i faden @ & |y drset
WIE H WA B| T IW A F § IR I

s,

8o,

36, uresll g8
Ba
S o
i b ) BE:E
R L
(Al (B] [C] (D] (E]

T~37. 1916 # Ugas 4 WUl B W gR o §

¥ wH-H wrfes abeR B TR Ry
fepam T AT?

Al fog e

B] fr@ mie

[C] e T

[D] SWik a4l

[E] 3Wks & & &5 &

frfefga § @ BH-w AR B gr o
fewan =& o7

(A] i (B] A

[c] seet D] S

[E] 7 § 8 ®ig T

Waﬁtwﬁz%mmwﬁm
TR g 7

[A] 3TEETE (B] @i

[C] Tgds [D] drad
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27. Where did Guru Gobind Singh stay on 7. 1688 U @t ¥ %,% T T e fig dfer

his way from Paonta Sahib to Anand gifes HHQY
ur . C .. N -
after the ‘Battle of Bangani’ in 1688?p ¥ WWW o i
[A] Gurdwara Navin Patshahi [A] TeEr it
[B] Gurdwara Kapal Mochan [B] TRERT Hurel HIeH
[C] Gurdwara Dera Sahib
C| Tegr atfes
[D] Gurdwara Nadha Sahib . ey TegI ! :
[E] None of the above (D] ) ¢{T€T e :
28. An upfold in rock is \2 1=l el T
[A‘] grat?er} [B] horse 8. WM § ©h IHTHICE 8
[C] anticline [D] syncline |A] DICE] [B] RIEY
[E] None of the above [C] ufesermsa (D] qu
29. }Dn tkll(e c;:rrent year which of the following [E] 3w d @ hIg Tal
anks has partnered with Paisabaza ' fge S 4
to launch Step Up Credit Card? = e Hlﬁﬁ ;; S e mﬁﬂﬁ o
[A] State Bank of India A A fw & 3 -
[B] SBM Bank SIECEURSE
{g} $§§1 Payment Bank [A] Yrdle ®e d% [B] WHo dlo WHo o
4 : SPERS
[E] None of the above - aﬁz - g i Teis. e
i ' [E] %% & @ %15 78
k iIch one of the following is a \3 frafafas 3”33&5
hereditary disease? & 3 d B . a7
[A] Cataract [B] Haemophilia (A] Ma (B] #mHiftsferen
[C] Pellagra [D] Osteoporosis [C] Temm D] aFfegrfag
[E] None of the above i s
= [E] 39U% § @ #1578
ecFion : In the following question, one fdw freferfaa ;
:grm in the number series is wrong. Find out % bk ﬁ’ ' 5!.@5“ Gl T 9g
€ wrong term. ' oA §1 TTq 0 ! I
, 25 A G/
31. 5[;272,761, 122, 213, 340, 509 (5] 2[5] @ 5,37, 61, 122, 213, 340, 509 4
[A] B] 61 T A 27 B] 61 . B
[C] 122 [D] 509 (5] #ic¥ [C] 122 [D] 509 = |
[E] None of the above [E] 3w # @ EAE] B )
C/

32. Which of the following treatise provides \3 i
2. TR T A 3 A
g 4

valuable information about the

advancement of trade, art and cult S, Hell T G'Fi-ﬂ?f i ;

- S gy during the reign of Tomar . HeE g Heg C-m?mgﬁ fga?r? ;?é e
ings ) [

[A] Tahkik-i-Hind [A] Tebi-C-fea

[B] Harshacharita [B] g

[C] Kadambari [C] wrgrrt

[D] Yashastilak Champu [D] zwiee® g

[E] None of the above B e § @ 9% 7@

33. In which State is the India’s largest \33 s
floating solar power plant proposed to be : %ﬂ T4 A WA 1 gEH AT 371 @R Frad
Wy & fmin &1 s fear me

set up?
[A] Maharashtra [A] wgmrg
[B] Madhya Pradesh B] 7w g
[C] Telangana \ei
[D] Tamil Nadu ;1(3:]]
he above
[E] None of the abov . m"'i'“ “_% 3 2
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0O 2. Y ,gg)
I"”"I 79. A boat goes 6 km i = /F—r‘j @%\"\L“g) =
o & water.. It takes the an hoyy s _ \ : :
covering the Sar;lge 8 UChr tllrrln est:g 79. T 96 WA A B U € H 6 fopft Fordt 2
BTt a0 againat T T F W I @ g w0 A P
(A] 2n1; nged X ur:enil(?ng s A el R, S T s W %
e B i foeg s § o 41 wro A :
[€] 4 km/hr [D 3 km/ny W8l 9 i g
Bl e o D] 5 km/hy [A] 2 fefi/gar (B 3 fedt e Pt
& of the aboye [C] 4 feft/gar (D] 5 fst/mer 5
80. Four years ago th [E] IWke § @ %1 78 B
were in the z&ia’cio el ? g&s of A a@ﬁ - (
years, their ages will pe ?;ldthtf[%' e 80, IR A g A 3 BH Y 11:14 % I ITs
f.li.sThe present age of 4 i : T eft 3ﬁ( 4 9§ §g ITh I 13:16 ED 5%
(A] years B 55 ears ygua d @M oA A oA A R o g
[C] ;4 years D] 28 years [A] 48 a¥ (B] 26 a% = AER
[E] None of the above [C] 44 39 ; (D] '28 EL| A Y y -
81, t(‘:lllloose the odd one out from the ElgggilT ¥ ol 78 159 g &
i 5 " ] Y =
[Z] - s “—e1. P @ frw @ ] ‘
[A] D12B  ~—B] 043B °d || gox &
[C] Keée2T [D] Y60E Cl K62T DI Y60E
SR [E] None of the above {E]] I o A ﬁ[é ]:‘_&pr SEHE e
82. he following has authored ; ’ "
e e a8 ot e
[A] Bal Gangadhar Tilak w# R :
[W [B] Mahatma Gandhi [A] o TR foers (B]  HaTeHn et
5 (C] Gopal Krishna Gokhale [C] T o M@ (D] Wo Sfo TR
[D] M. G. Ranade [E] ¥ & %% T&
N of them L 2
R ione - ~g3. fet awg B IR S I A wE
83, Per unit cost of a good 18 ¢4 [A] 3 fifR @ (B] TiEdE AT
[A] total fixed cost [C] sftead @F@ (D] W @t
b [B] variable cost [E] W% ¥ | g T8
[C] average cost
[D] All of the abO‘;Z ;. ~~84. 174 (REE weil # ghaon % 59 Reend 3
f the a i
[E] None o o in the 17th et # @Ol g Sftar 37
"%tﬁi 84' Wthh player of Harya;l g,old medal in [A] W aﬁ
E Asian Games, has *° Bl e HAR
wrestling? [C] ¥ wrTe
[A] Yogeshwar Dutt D) fif i
[B] Sushil Kumar A it
: t E] ¥ @ &5
[C] Anil Phog? \
[D] Nitin Gulia 85. i 1 &1 U Bd 81 7 iy a1y
g [E] None of them™ g ,Wflic'h one ¥ el # @ wA-A R?
f en ulé is it?
%. Glucose is a'sourceeos 9 01:;1 [A] TS HEET [B] WIEH
of the following WP~ prot® .y [C] =&t [D] AT sy
drate Bl cleic : .
D [A] Carbohy D] N [E] IE H ° s T
‘ [C] Fat ve
[E] None of th¢ - ha [P1q

llkn
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Direction : In the following question, a letter
series is given. Some of the letters of the
series are missing. These missing letters
are given in same order as one of the five
alternatives below the series. Find out the
correct alternative.

15. CDEF_EDC_DE_FED__
[A] FCFC [B] FCCD
[€] DCCC [D] DEFC
[E] None of the above

16. Where did Harshavardhana make the
capital of India?
[A] Rohtak [B] Panipat
[C] Mahendragarh[D] Hisar
[E] None of the above E =

17. Which of the following dance for :
also known as ‘Haryanvi Gidda™?
[A] Lur folk dance [B] Ratvadi dance
[C] Jhumar dance [D] Ghoomar dance
[E] None of the above

18. During solar eclipse
[A] the Earth comes in between the
Sun and the Moon
[B] the Moon comes in between the
Sun and the Earth
[C] the Moon comes exactly halfway
between the Earth and the Sun

[D] the Sun comes in between the
Earth and the Moon

[E] None of the above

19. Chaudhary Chhotu Ram started a
vigorous campaign to popularize the
Unionist Party in Haryana. In Haryana
State this party was called as
[A] Zamindara league
[B] Zamindari system
[C] Hindu-Muslim
[D] All of the above
[E] None of the above

~r

Diregtion : In the following question, a matrix of
?gli:lvn Charalcters is given. These characters
o sucterta.m trend, row-wise or column-wise.
R }-hls trend‘ and choose the missing

Tom the given alternatives.

96 (161 12

108| ? | 18

el B] 16
[C] 32 D] 37
[E] None of the above

/15-C

0 0 O O A
m:ﬁmﬁfﬁaﬂwﬁ,qmamsj@wﬁmwél
g@w%@amaa%ﬁgﬂym‘wwﬁﬁﬂ
m%ﬁﬁﬁ@w%ﬁ%qﬁﬁwﬁﬁﬁwéla’é
e N T

SN

e 1S CDEE{E_ED%«_DE. EDC (
[A] FCFC [B] FCCD
[B]" DCCE [D] DEFC

£ 3w § & i T

N6, e ¥ i § T R
[A] Ugd® [B] 9riTd
[C]H%W [D]%?TR

[E] R § & B T

7. PRl § @ few 3 # ghamn & fEr

wE @ R?
[A] R % @ [B] WrEl &
[C] W T [D] ¥H A

[E] SWs § & &I a0
TTU18. GEURM %GR
(A] e, @ R == % 9 o Al @
B] =W, ¥ 3R gt & fftw 1 Sar B
[C] ==sw1, gt 3R @ & & s d a7
Sl 8

D] @, g2 afk == % <= a1 S 2
[E] SW® ® @ 1 78

~19. &femon # I i @b # et s
g Ml Bg T I TF Fer AhEE s
o s TS d ww aRt 9w e

[A] e T B] it wen
[C] Rgaf™ D] s o
Bl 0% § 2 9 o

PR oo 7 3, 0 womait w1 o A fo
T e Y W s w o
R et § 3 A o w1

el B) »
20.f75 124 6 | .
siE[z]) 9% 130
108_3_%_ 18" &l
[A] 12 [B] 16 108
] 32 D] 37
x  [E] A% § 8 HE T &0
: @
169 D

!
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g Lur folk dance

nswers h

. f T askeq blch Quegt;
periormed in tp o Y the _oUON and
(A] Phalgun [nth of “Mgers, ig
[C] Ashwin I8

] aisakh
[E] None of th aboye Kargy,

‘Sal’ tree ig 4

[A] tropical evergree,

[B] tropical : tree
p seml‘ever 4

[C] dl’y deCidu()us tree

[D] tropical mgjgt et

[E] None of the aboy

b tree

ldu0us tree
e

§7. Which of the fo

OWing
of Haryana? & 1S the State bird

[A] Black pheasant
[B] White swan

[C] Parrot

[D] Peacock

[E] None of the above

When a light ray passes from glass to
water, the speed of light

[A] increases

[B] decreases

[C] remains same

[D] first increases then decreases
[E] None of the above

9. The green colour see
displays is due to the ¢

n in fireworks
hloride salt of

jum
[A] calcium (B] bazztium
[C] sodium [D] str
[E] None of the above

.« not @ part of
* Which of the following '° ;ZS iy
the foreign exchange T ese
[A] Foreign Currency
B] Gold

[C SDRS e
| Government gecurit€

None of the above
porati®

10

of liquid
'The rate of eva .
does not depend UP?
4] temperature
B] its surface arc?
atmospher¢
its mass
humidity g
None of the abo?

t
exposed 0 the

()
D)
(]

o

0

68,

69.

70.

11

765, o o

“e7.

T, et st ) vty et 2,
T el (B] swmg
SR R i

[E] 3R § & #¢ 73

- T I Ug } uw

(B Wmﬁ—ma@
(€] o whorh e

D] TorEfE an wh A
[E] 370w & @ % 8

frefefem # & afemon 1 e veft wm-a 27
[A] ®rem fw (8] W g
[C] dran [D]

[E] 3@ # @ %15 78

N9 W Al Tk fRw wmm d @ gt aw
TEEd /T B, @ W Ry

(A] & STt ?

(B] = Sl @

[C] &H &t 2

[D] weet 5 et & AR me w2

[E] 396 d 8@ ®i§ 7%

B UL, A aavesh § fmar 8, %
FANEE T F HRO gl B

[A] Hfcwm (B] afam

[C] wifeam [D] wifwaEm

[E] 3W® & 4 % 7
ﬁmﬁﬁﬁw—mm%ﬁ%ﬁgmﬁ—gﬁmw
fewm @i 27

[A] fogsft gar

[B] &

[C] WHo glo 3Tl"(o'

[D] &R wfayfear

[E] 3@ d @ &5 78

. g9 % adfiew hil g R T Hdr @

[A] THE W .
[B] % we &1 % TIET A Umgyry
@ W

[E] 3w § & HI5 @

R 7Y
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72. Where is Asia’s largest paper mill BILT

73.

]

74.

75.

76.
77.

78.

At
. o -

53

{

located in Haryana?

[A] Ambala [B] Yamunanagar
[C] Sonipat [D] Karnal
[E] None of the above

People prefer to wear cotton clothes in
summer season. This is due to the fact
that cotton clothes are

[A] good absorbers of water
[B] good conveyors of heat
good radiators of heat
good absorbers of heat
None of the above

(D]
[E]

When MR is zero, then
[A] TR is minimum
[B] TR is zero

[C]
(D]
[E]

TR is maximum
TR is equal to MR
None of the above

LONGi Green Energy Technology, which
is considered to be the world’s biggest
solar company, belongs to which country?

[A] Japan [B] China
[C] Qermany [D] Italy } E 7
[E] None of the above e

9\’%\—’ [
g) &%
then t%e%value of

If 4x= \/-5_ +2, 2
= L 2= @&

(x 16x) A - 7:‘;

[A] 1 B] -1 G [@,Z :

je] 4 Dl 2ys [@;?&J 4

[E] None of the above T =

Which of the following States has
recently nominated Raghuram Rajan
as part of the five-member Economic

Advisory Council for the State?
[A] Goa [B] Kerala

[C] Tamil Nadu [D] Karnataka
[E] None of the above

B f | district 'of Haryana
ammonia plant installed?
[A] Jind [B] Hisar

is

b

I IIIHHIIIHIHIIllllllﬂl!llllllllllllllllh
—72. P H = w Tw gILT g A

wE R 27

INEEL IS (B} SEEE
(C] waa [D} T

[E] 3w & & I T

<l % v 7 g A T TG
(A] Rt % 38 TR

[B] AW & 3O d1EH

[C] A" % 3r=® UeTH

[D] a9 % 38 3Fawiveh

[E] 3R & @ &g 78l

S§ @iq o (MR) I &, a9
[A] F& 3 (TR) =Fd9 &al 2
[B] ¥ 3™ (TR) Y &l &
[C] $& ™ (TR) IRrhaq a1 &
"ID] % 3 (TR), HHid 3 (MR) % ST
B 2
[E] 3W® & & +5 78
~75, aﬁ%@ﬁéﬁaﬁ,ﬁﬁmmmm
O A T R, e 3 Y et 2
< Y (A s B] <=
Bege) W D] sh
As 0 B I d 8 wE T

%
; ZTE 4x =
» [B] -1

&y
Lo 1Al 1
%ﬁ [C] 4 D] 25
\j "
[E] 3Wk6 # ¥ #E 7
77. E{mﬁiﬁﬁﬁ@%&mﬁmg}ﬁ
weefta ‘i TaTEHR giwe’ %

TS

s,

X

1

X — —

16x

\/-5_+2'§,Fﬁ( )WWF{%

i
TS % gy

R ¥ w3

78.gﬁ—qmnﬁ;ﬁ?aﬁéﬁaﬁﬁmmwﬁa

fopar T B7
[a] = B] fgaw
_[c] =R [D] griaq

[C] Jhajjar (D] Panipai

[E] None of the above e o
e
o

N

@+ i
==l

» %

—

p gue # 8 P
Y T cifhe -

S —

& TG
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Sati was declared illegal and
punishable by the Regulation XVII
during the Governor-Generalship of
[A] Lord William Bentinck

[B] Lord Canning

[C] Lord Ripon

[D] Lord Dalhousie

[E] None of them

Which one of the following slogans is
attributed to Subhash Chandra Bose?
[A] Jai Jawan Jai Kisan

[B] Vande Mataram

[C] Jai Hind

[D] Inquilab Zindabad

[E] None of the above

Where is the stockpile of Ebola vaccine
established by the International
Coordinating Group (ICG) on vaccine
provision?

[A] India [B] USA

IC] China [D] Switzerland

[E] None of the above

P and Q are two positive integers such
that PQ=64. Which of the following
cannot be the value of P+ Q?

[A] 16 [B] 20

{€) 35 [D] 65

[E] None of the above

Where was the Haryana Environment
Protection and Research Committee
formed? ‘
[A] Kurukshetra [B] Kaithal
[C] Charkhi Dadri [D] Hisar

[E] None of the above :

45. Ultra purification of a metal is done by

46.

47.

AN W al

[A] smelting [B] leaching
[C] zone melting [D] slagging
[E] None of the above

Which of the following is a traditional
neck/throat jewellery of Haryanvi
women?

[A] Hansla [B] Gulbandh

[C] Mohanmala [D] Allof the above
[E] None of the above

National Statistics Day is celebrated on
which of the following days?

[A] 29 June [B] 10 January

[C] 12 March [D] 20 August

[E] None of the above

I 0 0

Tg0. Gd ® Rru TeR-TReRT & dd HIH
XVII g1 373y 3R et arfva fepar a1 417
(A] @ie faferm a@fés
[B] @i hfim
[C] &fE fig
[D] IS sergrsht
[E] 3 & $I5 T bt
“~—~41. Aefifed § & SF-A1 A0 GAN ¥% 4 H
gufda fepam maT?
[A] S SaH 59 feaH
[B] &< wraw
[C] & fa
[D] s frgremg
[E] 3%k # @ %18 el
> 42, I yEYR W FRITE @HEd HYE g
Y gaien Jo %1 HSR el 27
[A] wrd [B] &g® Usg M
[C] <= [D] hesete
[E] SW% # 4 g 78
43, PR Q O s qitE 3@ @R e
PQ = 64. fiefeifed & & wlq-a1 P+ O =i

HH 8§ Hehdl &7
[A] 16 [B] 20
[C] 35 [D] 65
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86. Who was appointed as the Chairman of

the two Boundary Commissions
appointed by the British Government for
the partition of Bengal and Punjab?

[A] H. C. Lawrence
[B] Sir Cyril Radcliffe
[C] Robert Naive

[D] Samuel Huff

(E]

None of them

87. Which telescope captured the M87

black hole with its magnetic fields?
[A] Hubble

[B] Event Horizon Telescope

(C]
(D]
(E]

Giant Magellan Telescope
Thirty meter Telescope
None of the above

. IM stands for
(A]
(B]
[C]
(D]
(E]

Instant Making
Internal Messaging
Instant Messaging
All of the above
None of the above

There are just two ways in which
5 may be expressed as the sum of two
different positive (non-zero) integers,
namely 5=4+1=3+2. In how many
ways, 9 can be expressed as the sum of

89.

two different  positive (non-zero)
integers?

A] 3 (B] 4

[€] 5 (D] 6

[E] None of the above

In the following question, a
is given With one term
e correct alternative that
ame pattern andl replace
given series.

Direction
Number series
missing, Choose th
Will continue the s@
the question mark in fla

@)+?
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1. Which of the following personalities is

related to Haryana?

[A] Hira Singh

[B] Kalpana Chawla

[C] Babu Dayal Sharma
[D] All of them

[E] None of them

2. When was the Comprehensive Scheme

of Plantation under the name ‘Greening
of Haryana’ launched?

[A] In the year 1982-83

[B] In the year 1985-86

[C] In the year 1989-90

[D] In the year 1994-95

[E] None of the above

3. In Persian language Hisar means Fort.
The city of Hisar was founded by which
of the following Muslim Rulers?

[A] Firoz Shah Tughlaq

[B] Mohd. Bin Tughlaq

[C] Ghiyasuddin Tughlaq

[D] Both [A] and [B]

[E] None of them

4. In which of the following States is
terrace cultivation practiced?

[A] Punjab

[B] Plains of Uttar Pradesh

[C] Haryana

[D] Uttaranchal

[E] None of the above

5. Netscape Navigator is a type of
[A] utility program

[B] operating system

[C] browser

[D] web authoring program

[E] None of the above

6. Encrypted messaging  application
‘Wickr’ has been recently acquired by
which tech giant?

[A] Facebook [B] Twitter

[C] Google [D] Amazon

[E] None of the above

7. With a view to administrative conven-
ience, Haryana has been divided into
[A] three divisions

[B] four divisions

[c] five divisions

[D] six divisions

[E] None of the above

"~ /15-C

00 0 O
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1 T frefafigs & @ fee gieem s
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48. [A] Sachrine B] s. i T & !
[C] Saccharin |p SdCharine (A] 3N
[E] None of the aboye Charine [B] I3
ction In the given
o ERIG pat
pr the idiom/phrase given jn .5, [D] 3R =%
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49, 1 have' recently changed my job and I 54, T H R 2
am going to have teething problems
[A] difficulties at the start ' [A] e
[B] difficulties at the end rfetent
[C] difficulties all the time 1Bl
[D] problem with my teeth [C] <TeT
[E] None of the above s
(D]

Direction : Out of the five alternatives [A],
B, [C], [D] and [E] given below, find the one
that best fits into the blank in the following
sentence.

50. The problem is who will this child.
[A] bring in [B] bring out
[C] bring up [D] bring forth

[E] None of the above

Direction : Fill in the blank with suitable

preposition from the alternatives given under

_he sentence.

51. After all, hard work ha

____ your health.
[A] on [B] upon
[C] at [D] to
[E] None of the above
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8. Which of the following National
Highways runs from FRarigabad to
Ballabhgarh, Palwal, Mathura and Agra?
[A] National Highway No. 4
[B] National Highway No. 3
[C] National Highway No. |
[D] National Highway No,

[E] None of the above

9. By what percent must the cqgt price be
raised in fixing the sale price in order
that there may be a profit of 909, after
allowing a commission of (g7

1 1
[A] 35— [B] 133_9,

3 3
[C] 25% [D] 30%
[E] None of the above

10. The sum of two numbers, when
multiplied with each of the numbers
separately, then the results of the
above multiplications are 2418 and
3666 respectively. Find the difference
between the numbers.

(A] 16 [B] 21
[C] 19 By 23
[E] None of the above

11. All natural numbers and zero are called

as numbers.
[A] rational [B] integers
[C] whole [D] prime

[E] None of the above

12. Directory search is also known as
[A] direct search [B] uniqué search
[C] index search [D] All of the above
[E] None of the above

13. How much amount is given in Haryana
Sahitya Ratna Award?

[A] 2 lakh [B] ¥3 lakh
[C] %4 lakh D] ¥2.5 lakh
[E] None of the above

14. Average revenue
[A] can be negative
[B] cannot be negative ‘
[C] is zero when total revenUe€ Is zerg
[D] Both [B] and [C]
[E] None of the above

. Tk qew T e F wma g fpy wfeer
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= 3 s i wmt wogere @
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21. Which of the followin

22.

23.

24.

25.

26,

/15.¢

SRR g equations 18
correct®

18 5400 vy

Q
Bl AR=P+0Q

[C] AR=P-0Q
[D] AR=P+Q
[E] None of the above

The agenda for
Conferences held
1930-32 was to

[A] discuss the report of the Simon
Commission

(B] form a Constitution for India

[C] find a solution of the communal
problem in India

find a solution for the problems of
the ‘depressed classes’ of India

None of the above

AR = 18

(Al

the Round Table
N London from

[D]

[E]

What is e-mail?

[A] Engineering Mailing
[B] Internet Mailing

[C] Electronic Mailing
[D] All of the above

[E] None of the above

What prevents backflow of blood inside
the heart during contraction?

[A] Valves in heart :

[B] Thick muscular walls of ventricles
[C] Thin walls of atria

[D] All of the above

[E] None of the above

Which one of the following gases is
found in highest quantity in €X0sphere?
[A] Hydrogen- [B] Helium

[C] Nitrogen [D] Oxygen

[E] None of the above

Union Defense Minister, R&/P2th Singh

has informed that .Indla’s first
Indigenous Aircraft Carri€’ (IAC‘I) is

planned to be commissione? Py which
year?

(Al 2022 B] 2025

[€] 2030 [D] 2028

[E] None of the aboveé

\21.ﬁ5rﬁ~“f%aﬁ§3ﬁq-mmﬁwmnﬁtv

22.

23.

(A] WW(AR)_P;O: "
[B] 3w 31 (aR) = P4 g

[C] a3/ (AR) = p_ g
[D] 3@ 3™ (AR) = p. o
[E] 3076 § & &1 &

1930-32 % ©ig # 311fa e i geger

® THST o1

[A] 9 wHem f gl g o=t
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TG ST

[E] 37cs d & #1574

309 FT 87

[A] sSifafor afémr [B) dewie afém -
[C] soiFi™e Afem [D] IR @+
[E] 306 d & %ig 78
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26.

[E] 3R® & @ #18 48
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qoE WITET grt et 27

[A] &TSgIeM B] #feam

[C] TEgrm DIEEESIES

[E] 3W/6 § @ =1 7

hefta e woht, oy fiw Y g fen 2

qd &% TR wesht fawm aws® (IAC-I) &
fre ad q% 91 w@ A T R?

[A] 2022 [B] 2025
[C] 2030 [D] 2028
[E] IR% d & ®E T2
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